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QID : 101 - In the following question, select the related word pair from the given alternatives.

Heart:Organ::?:?
fFafafea vy A Ry 1y et § @ Tafdq e gm & gfgl

&g S ?:?
Options:
1) Bones : Calcium

2) Eyes : Organ
31 : AT

3) Leg : Feet
e iR

4) Ear : Sense
& : 3feat

Correct Answer: Eyes : Organ
T : af

andid_ate Answer: Eyes : Organ
LS
QID : 102 - In the following question, select the related letters from the given alternatives.
BPTW:CQUX::CHNS:?
FrafafEa ner 7 g g et # 9 H&fa o1eri &t gkl
BPTW:CQUX:: CHNS:?

Options:
1) DIST

2) DIOT
3) BGOT

4) DSTO
Correct Answer: DIOT
Candidate Answer: DIOT

QID : 103 - In the following question, select the related number from the given alternatives.
48:63::80:?

Frfafea ne & Ry 7y Rrenedl 7 § H&ifa der &t gfg)

48:63::80:?

Options:
1)97

2)98
3)99

4)101
Correct Answer: 99
Candidate Answer: [ NOT ANSWERED ]

QID : 104 - In the following question, select the odd word pair from the given alternatives.

Frafafea v | g g feedt & 9 v ez gm & gfg)
Options:

1) Calendar : Dates

o ; fafd

2) Dairy : Milk

gy

3) Notebook : Notes

St

4) Accounts : Entries
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Correct Answer: Dairy : Milk
gy

Candidate Answer: Dairy : Milk
gy

QID : 105 - In the following question, select the odd letters from the given alternatives.

Frafafea vy & g 1y faeedt & @ faw srert a6t ggl
Options:

Y

2)E

3)S

4H W

Correct Answer: E

Candidate Answer: E

QID : 106 - In the following question, select the odd number from the given alternatives.

Frafafea v 7 g 1y feedt & § faww S @t gl
Options:

1)26

2) 50

3) 82

4) 120

Correct Answer: 120

Candidate Answer: 26

QID : 107 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Train

2. Topper

3. Tingling

4. Tumbler

5. Traction

e ueal &t areentar & o aTct &9 & SIER ford|

1. Train

2. Topper
3. Tingling
4. Tumbler
5. Traction

Options:
1) 23541
2) 32154
3) 25314

4) 32514
Correct Answer: 32514
Candidate Answer: 32514

QID : 108 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
DK, FN, HQ, ?

ok SreRd foar ma 8, fod @ uen Ue @ 81 Ry e fereut & @ @ 9l faerea g, St srgehd ot g Rl

DK, FN, HQ, ?

Options:

1) KS

2)JT

3) KT

4)JS
Correct Answer: JT
Candidate Answer: JT

QID : 109 - In the following question, select the missing number from the given series.
2,5,17,71,?
ffafRd us & Ry 7 R § & g i 719 HfSig
2,5,17,71,?
Options:
1) 131
2) 247
3) 359
4419
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Correct Answer: 359
Candidate Answer: [ NOT ANSWERED ]

QID : 110 - Akshar remembers that the match is after 26th April but before 30th April, while Suresh remembers that the match is after 22nd April but before 28th
April. On which date of April is the match?

31&R I TTE & I 79 26 I & 1S fch 30 T T UG 8, STaeh! R i TS & i A 22 3T o TG Afch 28 ST & U8 g1 F 37t &l fohg I il 672

Options:

1) 29

2) 26

3) 27

4) 28
Correct Answer: 27
Candidate Answer: 27

QID: 111 - In a row of books a book of English is 16th from left end of row. A book of Mathematics is 12th from the right end. If the Mathematics book is 6th to the
right of the English book, then how many total books are in the row?

EAh! i Uek Ufch A ST &l Yok Jeadh Ufth & a0 8R ¥ 16 3 19 WR 1 710 <l Teh Y&eh I8 BR § 12 d WM W &1 I 70T I YEaeh Siifsit 6t gedes & 6 W1 aT8 &l R 8, at
Gfh gt fohart gech €2

Options:

1)33

2)32

3)34

4) 31
Correct Answer: 33
Candidate Answer: 33

QID : 112 - In the following question, from the given alternative words, select the word which cannot be formed using the letters of the given word.
Passenger
g g g §, FAffaa el & @ ag ree g Sit g g 2reg & s1eRi o1 TRINT ek el ST S HehdT B

Passenger
Options:
1) Anger
2) Pass

3) Page

4) Pain
Correct Answer: Pain
Candidate Answer: Pain

QID : 113 - In a certain code language, "TREASON" is written as "RKWWINX" and "POULTRY" is written as "CNXHYKT". How is "NUMBER" written in that code
language?

T fAf® s arer §, "TREASON" @l "RKWWINX" foaT SiaT & a1 "POULTRY” @t "CNXHYKT" forar STiar €1 39 shis “em & "NUMBER" ot fohg TR formar sirgam?
Options:

1) NIXQQR

2) JAIFAV

3) RQQXIN

4) VAFIAJ
Correct Answer: NIXQQR
Candidate Answer: [ NOT ANSWERED ]

QID : 114 - In the following question, by using which mathematical operators will the expression become correct?
30?6?74?5?4
fFfafea uy , e e et & @ fomm nforda dftharsit e v &t @ o mar geftezor 9@l gt smem?

30?26?4?2524
Options:

1) -, = xand +
=, =, X qur+

2) +,=,xand -
+, =, X T~

3) =, x,+and -
=, X, +ddr -

4) —, +,=and x
=+, =dduTx
Correct Answer: —, =, x and +
=, =, Xddar+
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Candidate Answer: —, =, x and +
- =, Xdur+

QID:115-1f13#9=94and 18 #7 =100,then24#6 =?

g 13#9=94quT18#7=1008, N24#6="?

Options:
1121
2)113
3) 148
4) 115

Correct Answer: 113
Candidate Answer: 113
QID:116-

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

Trafefta v & Ry 7r Reeur # ¥ uy Re
(?) & TUE W A arell F&AT HF gam|

2 5 7 10 8 11
14 9 19 | 14 20 ?
Options:
114
2)15
3)17
4)19

Correct Answer: 15
Candidate Answer: 15

QiD:117-
How many triangles are there in the given figure?

& o s o free Paager ¥

Options:
1)1

2)12
3)13

4)15
Correct Answer: 13
Candidate Answer: [ NOT ANSWERED ]
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QID : 118 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:

I. All books are erasers.
1. All sharpeners are books.

Conclusions:

I. All sharpeners are erasers.
1I. Some books are sharpeners.

12 G 7T ude U H 3 Y SR 3 I I Yl TR SR o Ry QY 1Y §, §Teifch SH M AT 32t § fATaT 8t wehd g1 it ey o ofk fiRr FrafRa e i kg
Q&  fserdf T g sme & SR wR giheTd &1

hY:

|. Foff g&Ich TR B
I1. goft iR gEadh &1

fArsep:

I. goft amfR TR &
Il. T& GEdeh AMUR &1
Options:
1) Only conclusion (1) follows.
() =g
2) Only conclusion (11) follows.
et e (1) Tt 21
3) Both conclusion follow.
ST € foreend @Et 1
4) Neither conclusion (1) nor conclusion (11) follows.

T Frepef (1) qor = € Fene (1) @ 1

Correct Answer: Both conclusion follow.
. &

Candidate Answer: Both conclusion follow.

2t &t foreef @it &

QID:119-

Three positions of a cube are shown below. What
will come opposite to face containing ‘E'?

2 e T f AT T R A §) 3w
‘E'& Taulld wois W diad T HEW HAM?

Options:
1B

2)D
3)A

4)F
Correct Answer: A
Candidate Answer: A
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QiD:120-

In the given figure, how many black buttons are shirts?

&1 72 Hpfa A, foFaa el T FHF €7

Shirts /
—»
HHS f“_'“\.\
/13/9\ 46\ Black/
18[19]\
Buttonsf_’ 1[}\175__/
acd
Options:
1) 37
2)19
3) 36
4)27

Correct Answer: 19
Candidate Answer: 19

QiD: 121-
Which answer figure will complete the pattern in the
guestion figure?

Al @ I FFd TH AP & UfAwT Hr qm
Ffre

ol ]

U

~J

Options:

1
o| \d

o]

Correct Answer:

N

o
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Candidate Answer:

N

o

QiD:122-
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& o W At # @ 3w I gl & giaw
o # ux sl Bfa &

i

Options:
1)

Z (|

Correct Answer:

=

ad

Candidate Answer:

yad
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QID:123-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

d=r & ue Agpladl # fG@m 3gErR wEe @
HAISHT Tl I Wiold & ag I hH 3 HTga
s feag gam?

Options:

=)
~

N
-

w
~

H»
=

L) L)

Correct Answer:

||

Candidate Answer:

L
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QID:124-

If @ mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afe o ZUUT F AB T W @ AW, af & S
IR Aeaal A F Pid @ P wy el &
e ufafess grfr?

Options:
1)

@)
O
g

O O

Correct Answer:
O

@)
O O
Candidate Answer:
O

O
O O
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QiD:125-

A word is represented by only one set of numbers as given in any one of

the alternatives. The sets of numbers given in the alternatives are

represented by two classes of alphabets as shown in the gwven two

matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and

that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can

be represented first by its row and next by its column, for example, ‘P’ can

be represented by 12, 43, elc., and ‘0" can be represented by 67, 88, elc.

Similarly, you have to identify the set for the word “STROM”

U Qg hdd Uh HEAT-HAG SR g TEn §, St fe fawedt & @
et wen A G o §) fawedt # Bu o dmm-wew dawh & & avlf
gRT gefe arw ¥, Shar fn Rw e o smeggt & ¥ ey & wEn AR
Ufch &1 =T 0 § 4 ¢ 3 R HT S5 H 91 39 AR H UH HeW W
ugel 3wl ufs AR A A waEn @ grRr gufar o wdar ¥ 3EeAr
F T P w12, 43, 31T ERT gfAT o Ghar & 9w ‘O @t 67, 88,
e gRT GURT o WHhaT § ST We o um wH A TU Rg
“sTROM” & faiv wap @) ugaEaT &)

Matrix-l Matrix-ll
gl Il
ol1]2[3] 4 5]6[7[8[9
O|P|Q|R|S|T 5(NJO[M|L|K
1185|T|P|Q|R 6|LIK[O|M[N
2IQ|R|[S|T|P T{OJL[NK[M
3|TIP|Q|R|S SIM|N|(K|O|L
4|R|IS|T|IP|Q 9IKIM[L|N|O

Options:
1) 10, 04, 33, 57,69

2) 41,42,14,68,86
3) 34,23,40,88,78

4) 22,11,21,75,96
Correct Answer: 22,11, 21, 75,96
Candidate Answer: 22, 11, 21, 75, 96

QID : 126 - An economic system combining private and state enterprise is called as

Ueh 3Mfier g, [ st aur Isa & Iushd &t TR 9915 It @, 98 shgerdt &l
Options:
1) Market economy
TR Srfegaer
2) Centrally planned economy
wu ¥ S srefagazen

3) Private economy
st a1

4) Mixed economy
3

Correct Answer: Mixed economy.
3

Candidate Answer: [ NOT ANSWERED ]

QID : 127 - What was the main motive of Third Five Year Plan in India?

9IRS § O deraeffa AT o1 gre I8 T U1?

Options:
1) Rural development

2) Agriculture

3) Financial inclusion
7

4) Economic reform

anffer gur

Correct Answer: Agriculture

Candidate Answer: Economic reform

37 gar

QID : 128 - Under which article, President of India can proclaim constitutional emergency?
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Options:
1) Article 32

TS 32

2) Article 349

TS 349
3) Article 356
e 356

4) Article 360
g 360

Correct Answer: Article 356
3% 356

Candidate Answer: Article 356

317G 356

QID : 129 - How many members of upper house (Rajya Sabha) can be nominated by President of India?

IO T (I8 TT) T e Tewdt i fAgfh TR & AgUfy gRT &6 ST FedT &2
Options:

110

2)12

3)14

4)16
Correct Answer: 12
Candidate Answer: 12

QID : 130 - Who wrote 'Akbarnama'?

"SfeherRATAT foRae forar ar?
Options:

1) Abul Fazal

ST thofel

2) Faizi

thaft

3) Abdur Rahim
AR B
4) Abdul Qadir

3Fege IR

Correct Answer: Abul Fazal
G et

Candidate Answer: Abul Fazal

ST Tt

QID : 131 - Which Sikh Guru initiated 'The Khalsa'?

foha Rieg T = ‘@reraT Y FeTd hr?
Options:

1) Guru Nanak Dev

& THH 3

2) Guru Gobind Singh

&= e Rig

3) Guru Angad Dev

& 1S &g

4) Guru Tegh Bahadur

& A7 F81ge

Correct Answer: Guru Gobind Singh
T e Rig

Candidate Answer: Guru Gobind Singh
T Mie R

QID : 132 - A difference between 2 longitudes at equator is nearby equivalent to km.
AT [T TR & AT & fi e i gl we .. &1
Options:

1) 101

2) 111

3)121

4)91

Correct Answer: 111
Candidate Answer: 111

QID : 133 - Which of the following winds are hot dust laden and blow from Sahara desert towards Mediterranean Region?

frafofEa & @ @ &t gas M 4o & @ gl § T TERT AR € AR &7 Sl 3R 5 82
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Options:
1) Sirocco

2) Loo

8

3) Foehn
wiea

4) Mistral
g

Correct Answer: Sirocco

Candidate Answer: Loo

q

QID : 134 - Which of the following are longest cells of human body?

frfafed 7 & ol /g 2R &l T9d 731 Hifveng 87

Options:
1) Pancreatic cells
ST AR
2) Epethelial cells
IJUHAT hHfRABTY
3) Nerve cells.

Rl

4) Epidermal cells

Correct Answer: Nerve cells

BlecaEaIRca

Candidate Answer: Nerve cells
’ e

QID : 135 - Which of the following is responsible for giving colour to human skin?

fFffEa & T 9 Jg @ & 7 U SR o [l IRarT 87

Options:
1) Luciferin

2) Haemoglobin
HEECIICES

3) Flavonoids

4) Melanin

A=

Correct Answer: Melanin

Candidate Answer: Melanin

QID : 136 - Which of the following disease is non-communicable in nature?

Frafafea 3 9 &= O flomr srisme ugfa 61 8?2
Options:

1) Cholera

LSl

2) Chicken-pox

GECT

3) Tuberculosis
& AT
4) Cancer

ek T

Correct Answer: Cancer

ek AT

Candidate Answer: Cancer
heh AT

QID : 137 - Electric Motor converts

foRa Alex ____ 31 &t Iifaies S A Sgetan &

Options:
1) sound

energy to mechanical energy

2) mechanical
3) chemical

4) electrical
Correct Answer: electrical

Candidate Answer: electrical

gt
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QID : 138 - Optical fibre works on which of the following principle of light?

yeeft a=g Frfeiad & & versr & fone figia R &Rt et 87
Options:

1) Reflection

RIS

2) Refraction

g

3) Diffraction
[ECEE

4) Total internal reflection
Correct Answer: Total internal reflection

Candidate Answer: Total internal reflection
3TRer WRrad=

QID : 139 - Which key is used to move to next line in a Ms-Word document?

T TE IS Sigiic g Arg § 5 & O fore <Y ot i gl @2
Options:

1) Enter key

TR &l

2) Escape key

Q&hY &I

3) Shift key
fRrore

4) Return key
Ret&r

Correct Answer: Enter key
TR I

Candidate Answer: Shift key
fRrwe &

QID : 140 - In which industry Potassium Nitrate is used commercially?

TR ATSEE T IUANT TG ¥ U & fohg Jeih 7 fomar Sirar 8?2

Options:
1) Glass Manufacturing
i<t & fafor &

2) Electroplating

fega-du=

3) Fire Cracker Manufacturing

el & At A

4) Leather Industry

IHST T H

Correct Answer: Fire Cracker Manufacturing
& fmfor &

Candidate Answer: [ NOT ANSWERED ]

QID : 141 - Which of the following is not an example of Allotrope?

FrafafEd § § &9 91 U 31U (TAigY) T ISTER0T 1ol 62
Options:

1) Diamond

2) Graphite

e

3) Ozone

Kisict

4) Steel
T
Correct Answer: Steel

Candidate Answer: Ozone

QID : 142 - Which of the following three R's are regarded as environment friendly?

fafafea § & o @ & R gaferor & sgge 91 o1d 82
Options:

1) Reduce — Reuse — Recycle

A AT - G: TART SeAT - G Ffehd el

2) Reduce — Reuse — Reutilize

A AT - G: TANT SeAT - GARTAA ST

3) Recollect — Reuse — Reutilize

O: Tehfad AT - G: TGN el - : SUTNT BT
4) Reduce — Renew — Reutilize

S AT - TR AT - Y: SUGNT AT
Correct Answer: Reduce — Reuse — Recycle
W AT - G: TART eAT - G Ffchd HeAT
Candidate Answer: Reduce — Reuse — Recycle
S AT - G: TRINT AT - G: Tfehd T
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QID : 143 - In which of the following city "Urja Ganga", 1500 km long gas pipeline project has been launched in October, 2016?

Frafafea § § fora e §, aper 2016 & 1500 foh.#t. et 79 urguas aiemn "Ssif " et SR forar mar 82

Options:

1) Ahmedabad
EGLEEICS

2) New Delhi
7% feeft

3) Ghaziabad

misrareTe

4) Varanasi

qRIOT

Correct Answer: Varanasi

Candidate Answer: [ NOT ANSWERED ]

QID : 144 - Who invented Pentium Chip?

dfemw Rg o enfaswr fhem famar?
Options:
1) C. Kumar Patel

rc)

4t AR
22 Tom Gunter

CHIXR
3) Vince Emery
faa o

4) Vinod Dham
[ERICi

Correct Answer: Vinod Dham

g e
Candidate Answer: [ NOT ANSWERED ]

QID : 145 - What is the duration (in minutes) of one-half of a football match?

edlel Sl Uk &4 & Yeh T <l Srafd (e ) foraft gt 82

Options:
1) 30

2)35
3) 40

4) 45
Correct Answer: 45
Candidate Answer: 45

QID : 146 - Which one of the following films was not directed by Satyajit Ray?

frfafed 7 & wiF <t fhe geasia ¥ & g1 a8 82

Options:

1) Shatranj ke khiladi
AT B c

2) Charulata

ATdeAdT

3) Jalsaghar
SR

4) Gumnam

TAAH

Correct Answer: Gumnam
THAH

Candidate Answer: Shatranj ke khiladi
LTSt
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QID: 147 -

Match the following (Arjuna Award 2016).

fPrrafafia w1 e fifen (37 wWEer 2016)|

Sport/ @« Player / Fa<msr
1. Shooting a. Ajinkya Rahane
gfear HiST o
2. Hockey b. Apurvi Chandela
g 3t ==
3. Cricket c. Ritu Rani
fpdre frg Tl
Options:
1) 1-b, 23, 3¢
2) 1, 2-3,3b
3) 1-b, 2-¢, 3-a
4)1<,2-b,3-a

Correct Answer: 1-b, 2-c, 3-a
Candidate Answer: 1-b, 2-c, 3-a

QID : 148 - Which play of Shakespeare's was recently claimed to be dated wrongly?

AR & fohe ATees & fawa & grat & | ag grar fomam man & foh Igeht Terd faf siftha &t 18 82

Options:
1) Macbeth
Aeharer

2) Othello
3Tt

3) Hamlet

4) Romeo Julliet

Aoy

Correct Answer: Hamlet

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - Which of the following country has co-sponsored 'Cobra Gold' — an annual multilateral military exercise alongwith Thailand?

Frafafea 7 § frg 3 7 ardde & a1y 'SieRT-Mes' - e Uriford afies sguefia &= srvar famar 82

Options:
1) India
HRI

2) Indonesia

R
3) USA
TGh 5T SARET
4) China
=

Correct Answer: USA
Tgh 5T SHRET
Candidate Answer: [ NOT ANSWERED ]

QID : 150 - The Gurudwara 'Panja Sahib' is located in which neighbouring country of India?

TEERT 'UST A1, Ra & foher uie 31 H f¥a &7
Options:

1) Pakistan

urfhE

2) Bangladesh

FATRRT

3) Sri Lanka

fictent

4) Nepal

AUt

Correct Answer: Pakistan

Candidate Answer: Pakistan
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QID : 151 - By what least number should 1200 be multiplied so that it becomes a perfect square?

1200 @I frT BYE @ BIET AT § 0T A W I8 Teh YUt it & SITgam?
Options:

Correct Answer: 3
Candidate Answer: [ NOT ANSWERED ]

QID : 152 - A, B and C can complete a work in 10, 12 and 15 days respectively. All three of them starts together but after 2 days A leaves the job and B left the job 3
days before the work was completed. C completed the remaining work alone. In how many days was the total work completed?

A, BT C foneft oo ot samat: 10, 12 77 15 Rl & qr1 i Tend! &1 fiHT A el ahe o ot oo o wReg 2 7 & w1 A ohrdf ©Y 3T & T B A 6l T 89 & 3 R ugat anf i
AT 1 C A i Y 31chet 61 YRT e &1 el I ot /T el H fohat &1 ot g

Options:

1)5

2) 6

3)7

4)8

Correct Answer: 7

Candidate Answer: [ NOT ANSWERED ]

QID : 153 - A solid sphere of diameter 7 cm is cut into two equal halves. What will be the increase (in cm?) in the total surface area ?

7 .10, 1 a1 Uk B T Rt &Y aR1eR Wil F ehrer STt 81 et g ether A foha gfg (.42 ) gfie
Options:

1) 77

2) 154

3)87

4)385

Correct Answer: 77

Candidate Answer: [ NOT ANSWERED ]

QID : 154 - After a discount of 23% an article is sold for Rs 1848. What is the marked price (in Rs) of the article?

23% 1 e o aTE Yk A% Y 1848 T. F T ST &1 a%g a1 Sifehd 7w (. ) foven 872
Options:

1) 2150

2) 2275

3) 2350

4) 2400

Correct Answer: 2400

Candidate Answer: [ NOT ANSWERED ]

QID : 155 -
S Pl T ) : :
If EP_§Q —ER, then what is the ratio of P, Qand R

respectively?

Tfg %P=%Q=%R, ar sRAM: P, QAT R T et
FT &7

Options:
1)3:2:5

2)3:35:14
3)5:7:5

4)35:6:15
Correct Answer: 35:6:15
Candidate Answer:35:6: 15

QID : 156 - What is the average of first 93 natural numbers?

T 93 UTehfaeh eeaTait dr ofted forat 82
Options:

1) 45

2) 46

3) 47

4) 49

Correct Answer: 47

Candidate Answer: [ NOT ANSWERED ]
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QID : 157 - A trader sells two items at the rate of Rs 400 each. If he gains 15% on one and losses 15% on other, then what is the value (in Rs) of loss ?

e TR & a3l dl 400 <. Tf a¥g ol R T 9T &1 AfE I b a¥g IR 15% ST ATH T g8 a%g TR 15% i 811 gIdil 8, Y ST &l A (2. #) fham ghm?

Options:
1) 18.41
2)22.14
3) 20.25
4) 24.36

Correct Answer: 18.41
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - 30% of a number exceeds 25% of the same number by 27. What is the value of the number?

fontt Tivem 1 30% It T I 25% T 27 31fdek &1 TReaT ot A fohaAT 82

Options:

1) 540

2) 270

3) 108

4)90

Correct Answer: 540

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - 37 trees are planted in a straight line such that distance between any two consecutive trees is same. A car takes 20 seconds to reach the 13t tree. How
much more time (in seconds) will it take to reach the last tree?

37 g7l ol Goh Geh Wil Uik A 39 UeRR v T & o et +ft @ shAmTa ISt & ofer ol @t THH &1 Uk R 13 & 8T ek Uges A 20 YhUS cidll & | 3ifaH gt e uger A ag fohe
Y (Sopve H) SR fi?

Options:

1)36

2) 40

3)57

4) 60
Correct Answer: 40
Candidate Answer: [ NOT ANSWERED ]

QID : 160 - If a certain sum of money doubles itself in 7 years 8 months at simple interest, then what will be the yearly rate of interest (in %)?
Iy 7 o 8 AR F wreRor st Y R & Ue Rffa A @ & g 8 sa, o arfifes st e (% H) @@ g
Options:

1
182
4

2

131

23

3)

06 2

23
4) 30

Correct Answer:

131

23

Candidate Answer: [ NOT ANSWERED ]

QID: 161 -

1
xd-P) L1

?

What is the value of 1 +
xP=q) L1

1 1
xP=9) L1 i xq-P) 1 T A FA 2

Options:
10

2)1
3) x(P-9)

4) x(P*a)
Correct Answer: 1
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Candidate Answer: [ NOT ANSWERED ]

QID:162-

If x=8+2./5, then what is the value of J;+i?

Jx

e x=8+ ZJ‘E,Fﬁ \I';+

1 o ae g7
N

Options:

1) 2v5

2) 2v3

3) (3v5 +v3)/2

4) (3v3 - v5)/2
Correct Answer: (3v5 + v3)/2
Candidate Answer: [ NOT ANSWERED ]

QID:163-
: 1+ a ey W2
What is the value of — - +a 2o
a“+a’ 1+a
1+ a El”2 + El_“2 _1/2
- +a "2 @1 AT F=T E2

a“+a’ 1+a
Options:
1) va
2)1/Va
3)va+1
4)va-1

Correct Answer: va
Candidate Answer: [ NOT ANSWERED ]

QID: 164 -

2 /"
If Ezﬂ:then what is the value of %?
g x-3 o’ Qg

X+3 2, q?
uﬁ§= et ar “22_32 T AT FATE?

Options:
1)
X2 +9

3x
2)
x*+18

6x

3)
2
x“+18
3x
4)
x> +9
6x
Correct Answer:
x> +9
6x

Candidate Answer: [ NOT ANSWERED ]

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

QID : 165 - PQRS is a square, M is the mid-point of PQ and N is a point on QR such that NR is two-third of QR. If the area of AMQN is 48 cm?, then what is the length
(incm) of PR?

PQRS e i &, M, PQ &1 A% faig & a7 N, QR W Ueh feig 39 UehR & foh NR, QR @ g1-fagrs &1 afe AMQN a1 &i5het 48 @.#1.2 8, at PR oY eivaré (8.1, &) fovareht g2

Options:

1) 12v2

2)12

3)24

4) 24v2

Correct Answer: 24v2

Candidate Answer: [ NOT ANSWERED ]

QID: 166 -
In the given figure, PQ =30, RS =24 and OM = 12,
then what is the value of ON?

&r o amgpfa &, PQ = 30, RS = 24 91 OM = 12%
dr ON & A T &2

/ N
rn 0 ( IS
\\ | /;’
P ,{4 o Q

Options:

19

2)12

3)15

418

Correct Answer: 15
Candidate Answer: 15

QID: 167 -
In the given figure, PQ is the diameter of the circle.
What is the measure (in degrees) of /QSR?

& e i &, PQ I &1 =OTH &1 ZQSR &F
Fg (e &) =37 &2

e \

f P \

AN

\ ~Q\ /

S \\ /’r
Options:
1) 23
2) 37
3) 47
4)57

Correct Answer: 47
Candidate Answer: [ NOT ANSWERED ]
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QID: 168 -
In the given figure, PM is one-third of PQ and PN is
one-third of PS. If the area of PMRN is 17 cm?, then
what is the area (in cm?) of PQRS?

& 2 iy A, PM, PQ o1 U faere & Far PN,
PS @1 ws faws I I PMRN &1 &i9%e 17
T2 & a1 PQRS & &% (B.#.2 H) a7 &7

M
P | < Q
| S
N [ i R \\\
H‘“"‘“—--_
H“--;\\\\
"‘-u._\__\__\_
S R
Options:
1)34
2) 51
3)68
4) 85

Correct Answer: 51
Candidate Answer: 51

QID : 169 - What is the simplified value of (1- sin A cos A)(sin A + cos A)?

(1- sin A cos A)(sin A + cos A) &I Teligd HH HIT 82
Options:

1) sin? A - cos? A

2) sin3 A+ cos3 A

3)0

4) cos? A - sin2 A

Correct Answer: sin3 A + cos® A
Candidate Answer: [ NOT ANSWERED ]

QID:170-
Whatiis the simplified value oF%— M A 5
1+sin A

128N A o1 eeiget amer o &2

1+sin A

Options:
1)tan A

2) sec A
3)sec A+tan A

4)secA-tan A
Correct Answer: sec A —tan A
Candidate Answer: sec A —tan A

QID:171-
1 1

s 2
\"sin"2 A cos’ A

What is the simplified the value of

\/—l v o ol = T
sin® A

cos’ A
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Options:
1) sin Acos A

2)tan A+ cot A
3) sin 2A

4) tan A cot A

Correct Answer: tan A + cot A
Candidate Answer: [ NOT ANSWERED ]
QID:172-

The bar chart given below shows the number of cars
parked in a multi-level parking from 6 amto 6 pmon a
given day.

@ R o gus R # o agHfeer wfder # R
T fFd e & Wi 6 @< ¥ WY 6 9 aF (Wedd
Ue & 3T A) @dr fr w2 mizar & gEAr F AT

I

250 -
£ E 200 pice
éfﬁ 150 1152 138 150 -
Eg.mo- s368 Jl 73
r4 50 1M 35 344035

EEEEEEEEEEEEE
W@ 0OEEGOS S oo aoo
O~OHO T N-N®OT B

Hours /o¢

What is the average number (approximately) of cars parked per hour from 6 am to 6 pm on the given day?

g 71q foReht e & gt 6 a5t & STORTEH 6 Tt deh Uieh 90 B Wal &l 715 Mied! dhl SiieTd AT (Fe7T) 1 82

Options:
1) 80

2) 85
3)73

4)78
Correct Answer: 85
Candidate Answer: 73
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QID:173-

The bar chart given below shows the number of cars
parked in a multi-level parking from 6 amto 6 pmon a
given day.

o= R o guz fF # e agafeer wfder & R
T el e & Wi 6 @< ¥ WY 6 9 aF (Wedd
ue & 3T A) @dr A 72 mizar fr gE=AT B oA

I R
250 -
£ E 200 pce
éfﬁ 150_152 s 150 "
E% 100 - 6368 73
Z 50 1M 35 344035

E EEEEEEEEEEEE
W@ 0OEGE®OAaGCGooaaoa
O~ OHO - N - T WO

Hours /¢

At what time the percentage change in number of parked cars is the maximum?

fora amg wifdhn & @l &t 718 it &t e & ufaerd § ga Sifdes uivad= goT 8?

Options:

1)9amto 10 am

qafe 9 i @ gafed 10 a1 I
2)12pmto 1 pm

IR 12 T ¥ ARG 1 9 ah
3)8amto 9 am

afe 8 9t & yelfe O a9t A

4)6amto 7 am

afe 6 99t & yefe 7 a9t a

Correct Answer: 8 am to 9 am
qafg 8 <t @ gafed 9 ot as

Candidate Answer: [ NOT ANSWERED ]
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QID:174-

The bar chart given below shows the number of cars
parked in a multi-level parking from 6 amto 6 pmon a
given day.

o= R o guz fF # e agafeer wfder & R
T el e & Wi 6 @< ¥ WY 6 9 aF (Wedd
ue & 3T A) @dr A 72 mizar fr gE=AT B oA

I R
250 -
£ E 200 pce
éfﬁ 150_152 s 150 "
E% 100 - 6368 73
Z 50 1M 35 344035

E EEEEEEEEEEEE
W@ 0OEGE®OAaGCGooaaoa
O~ OHO - N - T WO

Hours /¢

For how many hours the number of parked cars is less than the average on the given day?

fehat wruet & forg uifh & @<l &t 78 st &t wem Ry ¢ e & sftea @ & 82

Options:
1)5

2)8
3)6

47
Correct Answer: 8
Candidate Answer: [ NOT ANSWERED ]
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QID:175-

The bar chart given below shows the number of cars
parked in a multi-level parking from 6 amto 6 pmon a
given day.

o= R o guz fF # e agafeer wfder & R
I fFe o9 & UI9: 6 = W T 6 I IF (VAR
ue & 3T A) @dr A 72 mizar fr gE=AT B oA

T ¥

250 -
%Ezoo- b
.543150_152 s 150 "
% 100 | 5368 J| 73
Z 50 1}l 35 344035

If the charges of parking are Rs 50 per hour, then what is the total income (in Rs) from 6 am to 6 pm on the given day?

& aTfeh a1 heeh 50 % T gver g, iy g 7 A qaig 6 1 § STIRIg 6 I91 dch UT e TS (3. 7) et 82

Options:
1) 55500
2) 50500
3) 57500
4) 59500
Correct Answer: 55500

Candidate Answer: [ NOT ANSWERED ]

QID : 176 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Are not your father (1)/ and your elder brother (2)/ out of town? (3)/ No Error (4)
Options:

1)1

2)2

3)3

494

Correct Answer: 4

Candidate Answer: 1

QID : 177 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Our office building comprises (1)/ seven floors and a restaurant at the top in an (2)/ area of about eight hundred sq. metres. (3)/ No Error (4)
Options:

1)1

2)2

3)3

44

Correct Answer: 2

Candidate Answer: [ NOT ANSWERED ]

QID : 178 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

John as well as his friends always _____ the permission of his mother before going for a rugby match.
Options:

1) asks

2) receives

3) seeks

4) soughts

Correct Answer: seeks
Candidate Answer: seeks
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QID : 179 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

My sister unlike my brothers to have a career in Engineering.
Options:

1) wants

2) want

3) wish

4) aspire

Correct Answer: wants

Candidate Answer: wants

QID : 180 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Boisterous
Options:

1) Clamorous
2) Ferocious
3) Fissiparous
4) Voluminous

Correct Answer: Clamorous
Candidate Answer: Clamorous

QID : 181 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Haggard

Options:

1) Emaciate

2) Insane

3) Rejected

4) Ridicule

Correct Answer: Emaciate
Candidate Answer: Emaciate

QID : 182 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Ostentation
Options:

1) Comical
2) Insane
3) Modest
4) Swanky

Correct Answer: Modest
Candidate Answer: Modest

QID : 183 - In the following question, out of the four alternatives, select the word opposite in meaning to the word given.

Commiserate

Options:

1) Debatable

2) Empathize

3) Indifferent

4) Legion

Correct Answer: Indifferent

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Pillar to post

Options:

1) Main support of an object
2) One place to another

3) To be reluctant

4) To incite others

Correct Answer: One place to another
Candidate Answer: One place to another

QID : 185 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Hobson's choice

Options:

1) To choose first in row

2) To make a careful choice

3) No real choice at all

4) To seek all favourable alternatives to choose from

Correct Answer: No real choice at all
Candidate Answer: No real choice at all

QID : 186 - Improve the bracketed part of the sentence.

William Shakespeare is the greatest of (all other) writers.

Download More Papers From www.GovtJobsAlert.In



Download More Papers From www.GovtJobsAlert.In

Options:

1) all the

2) any other

3) the other

4) No improvement
Correct Answer: all the

Candidate Answer: any other

QID : 187 - Improve the bracketed part of the sentence.

She is not used (to sleep) for so long.
Options:

1) to be sleeping

2) to sleep

3) to sleeping

4) No improvement

Correct Answer: to sleeping

Candidate Answer: No improvement

QID : 188 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Giving undue favours to one's own kith and kin
Options:

1) Ableism

2) Iconoclast

3) Maiden

4) Nepotism

Correct Answer: Nepotism

Candidate Answer: Nepotism

QID : 189 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

One who does not care for literature or art
Options:

1) Dictator

2) Hypocrite

3) Philistine

4) Primitive

Correct Answer: Philistine

Candidate Answer: Philistine

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Colonel

2) Hypocracy

3) Offence

4) Strength

Correct Answer: Hypocracy
Candidate Answer: Colonel

QID : 191 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spelt word.
Options:

1) Preceed

2) Proceed

3) Recede

4) Succeed

Correct Answer: Preceed
Candidate Answer: Proceed

QID : 192 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- And if | think about something which didn't happen | start thinking about all the other things which didn't happen.
Q- But there is only ever one thing which happened at a particular time and a particular place.
R- And there are an infinite number of things which didn't happen at that time and that place.
S- A lie is when you say something happened which didn't happen.

Options:

1) QSRP

2) SQPR

3) SRQP

4) SQRP

Correct Answer: SQRP

Candidate Answer: SQPR

QID : 193 - The question below consists of a set of labelled sentences. Out of the four options given, select the most logical order of the sentences to form a
coherent paragraph.

P- The magnitude of the interdependence depends on the technique of production causing the shifts in the food supply curve.
Q- Interdependence of food and labour market is important for the development process.

R- Similarly, an upward shift in the food supply curve shifts up the food demand curve.

S- An upward shift in the food supply curve would simultaneously result in an upward shift in the labour demand curve.
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Options:

1) QSPR

2) QPRS

3) PSRQ

4) SPQR

Correct Answer: QSPR
Candidate Answer: PSRQ

QID : 194 - In the following question, a sentence has been given in Active/Passive voice. Out of the four alternatives suggested, select the one which best expresses
the same sentence in Passive/Active voice.

Who teaches you Mathematics?

Options:

1) By whom are you taught Mathematics?

2) By whom were you taught Mathematics?
3) By whom will you be taught Mathematics?
4) Mathematics is taught by whom?

Correct Answer: By whom are you taught Mathematics?
Candidate Answer: By whom are you taught Mathematics?

QID : 195 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best
expresses the same sentence in Indirect/Direct speech.

"I don't know the answer. Do you"? She asked.

Options:

1) She asked me if | knew the answer which she didn't.

2) She said that she didn't know the answer and did | know it.

3) She said that she didn't know the answer and asked me if i did.

4) She told that she was not knowing the answer but wondered if | know.

Correct Answer: She said that she didn't know the answer and asked me if i did.
Candidate Answer: [ NOT ANSWERED ]

QID : 196 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of this ,the___ of our educational curriculum as well as that of our __ and
students is likely to remain . It is not enough for a society to have experts. It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computers and .

As long as we are unmindful of this s
Options:

1) measure

2) resource

3) story

4) truth

Correct Answer: truth

Candidate Answer: truth

QID : 197 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of this__, the ___ of our educational curriculum as well as that of our __ and
students is likely to remain . It is not enough for a society to have experts. It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computers and .

the of our educational curriculum as well as
Options:

1) efficiency

2) effectiveness

3) quality

4) quantity

Correct Answer: quality

Candidate Answer: effectiveness

QID : 198 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of this , the of our educational curriculum as well as that of our and
students is likely to remain . Itis not enough for a society to have experts. It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computers and

that of our and students
Options:

1) friends

2) ideals

3) parents

4) teachers

Correct Answer: teachers

Candidate Answer: parents
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QID : 199 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of this ,the of our educational curriculum as well as that of our and
students is likely to remain . Itis not enough for a society to have experts. It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computersand _____.

is likely to remain . It is not enough for a society to have experts.
Options:

1) inadequate

2) indifferent

3) represented

4) unmeasurable

Correct Answer: inadequate

Candidate Answer: inadequate

QID : 200 - In the following questions, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate
it by selecting the appropriate option.

Education is for life, not merely for a livelihood. As long as we are unmindful of this ,the of our educational curriculum as well as that of our and
students is likely to remain . Itis not enough for a society to have experts. It needs human beings who can think, feel and act generously, the kind of people who
cannot be replaced by computersand ____.

the kind of people who cannot be replaced by computers and ____.
Options:

1) mechanics

2) monitors

3) robots

4) televisions

Correct Answer: robots
Candidate Answer: robots
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